
Time:3hours

Wrhat is the corresPonding ciPher

b) What is the need for securitY?

PART-B

text using play fair ciPhei method?

OR

what parameters characterize the

Max.Marks:75

lzl
nature of a

have to"tieiuseful

. (z"S.Marks)
I I;.

lz)
t3l
l2l
t3l

:'"': i"'; {,".',:;".'"".r l2)
for mi:s llle authenticadbh ? t3l

t3l
t21

' [3]

(50 Marks)

[5+5]

OR

5. Consider a Diffie-Hellman scheme with a common prime 9=11,

is i:s fiiivate key Xi.i
b) If user 'B' is shared secret keY K.
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t10l6. Explain HMAC algorithm.

7.d)' ; :"'Explain the'DSA algorithm.:...r i^.. ;

b)' i "Whut is bio"mbiiic authenticafibn?
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i) What is cross site scripting vulnerability?
ii", i:.:Vfnat are thd:lfiir'itations of fiileiiialls? ;'::; :"::
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8.a) Explain PGP trust model.
b) What are the key components of internet mail architecture?

OR
9.a) Explain,I\{IME context types.
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10. Explain sectrre electronic transaction.
OR

11.a) Explain password management
b) What are the types of firewalls?
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